[image: image1.png]20. A, JER4S, — 20, = 27, ERSHola, 98 IR0, o

(Kay, az; afMfE;

Q@URIE: {5 - SR

e

GWEA: AHEEn €N+, HE

==

<1,



[image: image2.png]20 [E=T B (DZin = WY, 45,-2a,=2, ¢

Fitha, =1, +

Hn =, 45, - 20, = 22Fl4(a; + @) — 20, =4, ¢+
Fitha; =0, +

Ln = H, 45, 2a; =2°, Al4(a, +a, +a;)—2a; =8, +
Fithas =2; ¢

Fiha, =La,=0.a;,=2; +

G
FiEA4S s — 20,1 = 2" (03 2), +

45, 20, = 2%, 4

FEAGE — DRSS «

O = = e

Mbzns +ban = i + 5y = e
T T T e

PRSI 2T, , <245 o+ 2 =
Rbp> 02Ty <Tpp <1, ¢

U e



[image: image3.jpg]2 =y 2
3 \
Wa Q.-
A
B
s T B aeens o alE-%)
. U.
thcu.,v\Nw. I.ﬁv:w\&\m IN-GHEE i 2ve v B o3
e 9\1 AN ABVWJ
"3

C- ﬁ@i “HE

N




[image: image4.jpg]



